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Select multiple choice answers with a cross or tick:
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Question 1 of 14

Section A: 5 Questions (2 marks each) 
 
Choose the correct answer. 
 
641 + 238 = _______

A) 403

B) 417

C) 877

D) 879

Question 2 of 14

10 less than 418 is _______.

A) 318

B) 408

C) 428

D) 518
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Question 3 of 14

______ and ______ are 3-digit odd numbers.

A) 41 and 45

B) 32 and 37

C) 247 and 275

D) 301 and 374

Question 4 of 14

6 tens 17 ones is the same as _______.

A) 67

B) 77

C) 617

D) 707

Question 5 of 14

30 tens - 2 tens = ______.

A) 10

B) 28

C) 280

D) 320

Question 6 of 14

Section B: 7 Questions (2 marks each) 
 
Work out the following sums and write the answers. 
 
Write 598 in words.

Question 7 of 14

783 - 146 = _______
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Question 8 of 14

Arrange the numbers from the greatest to the smallest. 
Put ‘space’ or ‘,’ between your answers. 
 

 
 
_______, _______, _______, _______ 
greatest

Question 9 of 14

Add 510 and 5 tens. 
 
Ans: _______

Question 10 of 14

Look at the numbers given. 
Use the numbers to form the greatest 3-digit even number. 
Use each number once only. 
 

 
 
Ans: _______
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Question 11 of 14

What is the missing number in the box? 
 

 
 
Ans: _______

Question 12 of 14

What is the missing number in the box? 
 

 
 
Ans: _______
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Question 13 of 14

Section C: 6 marks (3 marks each) 
 
Do the following sums. 
 
Vivian bought 575 sweets. 
She bought 128 fewer sweets than Rani. 
How many sweets did Rani buy? 
 
Rani bought _______ sweets.

Question 14 of 14

Anita needed 250 eggs to bake some cakes. 
She did not have enough eggs. She needed to buy 51 more eggs. 
How many eggs did Anita have at first? 
 
Anita had ______ eggs at first.


